Chemistry: Final Exam Review Trimester §§
Be sure to carefully look over all of the lab work your teacher has returned
to you. Also be sure to review all power points and other notes that you have
taken. Review the homework you have completed throughout the course.

1. What is mecm‘r when we describe a measurement as accurate?
It is -the correct measurement .
It i's the same as or very clese 1o -the

stondard cor accepted measurement .
What is meant when we describe a' measurement as precusee?n

when we repeat +the measurement,we get
-I:he Same oryery close +o the same

315, €Y9€., the more Precse -the surcmen‘t'
2. The volume of a s‘randar? (all oTher‘ measur‘ed values Ere compared to t rﬂeq

standard, it is considered accurate) metal cylinder is 3 mL. This would be
an exact number and would have infinite sig figs. A student measures
the volume of this cylinder 3 times and finds the volume to be 3.000mL,
3.001mL, and 2.999mL. How would you describe ThIS data?

Bt accurate ond precise.  + o,colml

3. Review fhe rules for use of significant figures in your text in chapter 1.
Do the following calculations involving measurements and be sure to round
to the correct number of sig figs. Be sure to label with correct units.

a. 2436¢g- !
18 5mL 3.2 g/mL.

b. (4.55 x 10"%g)(3.6 x 10%g) - 15
3.778 x 10%g 1.3 x10 4

c. 145cm +12.88cm + 9.123cm + 5.15¢cm = q[ Tl ecm
M. em
d. 5.55cm(1Bemsizbom)= 78.3 em?Z

4, List the subatomic particles that make up an atom, their location in the
atom, their relative mass and relative char‘ge

Par v kicle Relative Mass Relative C*wge
(**) Tproton - m nucleps l
(n°) oé\fu{:vun - In nucleus ‘ | 0O
5. Wﬁc%‘ I)S an lgoﬁ‘op 69- Olibside nuc Bus %8“!0 =

An otom of a parhcular element that has the
Some # of pt as other atems of -that element

bu-t thFexen'I: # of neutreng so 1t will have
different moss H.



6. a. Write the symbol for an isotope of uranium with 143 neutrons.

235
az

b. What is the mass number for this isotope?

235

c. What is the atomic number for this isotope?

92

7. The relative atomic mass (weight) for phosphorus is 30.974amu. Which
isotope of P is most likely the most abundant isotope?

P-3|

8. The following diagram should be used to answer the question below.
100-4

Percent 75-
Abundance 50-

29.

| | b

3031 32 |
Mass (amu) |

Calculate the relative atomic mass for the element that has the above
mass spectrum.

(30 » 0.50) + (31 x 0,25) + (32 » 0.25) = 30.75

s + 7.8 + 8.0 =38lu
9. Write the orbital diagram and electron configuration for an atom of
silicon,
Orbital:

: ERAY ™ wE
o %E qu 3s 2P

e” conFo'ﬁura'h‘on !

Gi = le22s22pb 3$23P2"



10. List examples of the following on the periodic table:
a. metal LEFT OF BLUE STRIRCASE EXCEPT H.

b.ronmetal p1cr oF BLUE STRIRCASE PLLS H.

c.‘me‘ralloid Si) G‘e) As, SLJTE‘

d. diatomic element

H2 ) NZ: OZ, ‘:2‘, CaZJ Brz. tIZ.

e. faminA CoLuMn | $ <oDIUM FAMILL‘ OR ALKALI MEMLS

NopgE G_-Asesj HALOGENS
f. period

A ROW) <3

g. transition metal
“N Broex "
h. inner transition metal
(]
| “F BLOLKR"
11, If you compare x-rays to radio waves, which would have the highest

frequency? the longest wave length?
P. 20,9 X-RAYS HAve HIlGHeEST FReduency

RADlowAves HAe LoNGesT WAVELeNETH
12. Examine the line spectrum for.the element hydrogen. Do the lines in the
spectrum converge at the high energy end of the spectrum or the low
energy end? Why do the lines converge?
THE LineS CowVERGE AT THE HIGH eENereYy END OF
The SPecTRUM BECAUSE THE DISTAMCES BeTween THe
ENERSY LEVELS THE GLECTIRANS EXIST IN ARE CLOSER
TOGETHER AND THE ELELTRONS DIFFERENCE N ENEREY |S LESS
Benoeey THE HisHER EnerEY Levels Wien COMPARED WITH
13. Which has the greater atomic radius, lithium or rubidium? Explain\ THE DIFFERENCE
Rb: The vALenCe elecieons v Rb are Founp | I ENeRey IV
IN The S Enerey tevel. Li has Vaemee | 15 € avP
ELECTRONS IN THe 2V ENERGY Level. |0 '
14. Which has the greater atomic radius, sodium or chlorine? Explain. i
No: THe valence eLecTRONS FOor BoTH ARe IV THe Y

EVERGY LEVEL BUT THE EFFECTIVE NUWEAR PULL 1S GReATER
15. Place in order of smallest ionic radius to largest: K', Ar, CI". in co .

KT L Ar 200




16. Which element has the lowest electronegativity on the periodic table?
the highest? Explain.

LowesT = Frr Hienest = F

Fr WILL LOSE AN e~ SO0 IT Wik NeT Be
gfmAc-reo ™ THe e's Iv AaBOVUD., F WILL GAIN

N e- \ co T Wil
£3A s_m;rv HAVE A NORBRLE GAS NFIGURATIBIV SO

17. Write corress & mm’rﬁﬁlowmg HE els v A eonp.

a0 P racsivm Oxipe

\

Dinimrocen MoneoXipe

c. Coz(C204)
T (seaur i) Oxatare
d. (NH4)250
T Ammoniom SuceaTe

Tron () Hyoreeen Prospiare

18. Write the correct formula for the following:

a. calcium dihydrogen phosphate QQCHL%‘A
s
b. sulfur hexafluoride SF
b

e. FeHPO4

c. tungsten (IV) hydroxide

‘ wwﬂq
& CuNO2

~ 19. Draw dot sTr'ucTur'es‘To Show how an ionic bond would form between

aluminum and oxygen. Write the formulas for the cation, anion and
compound that will form:

Aﬂ-\o Cront /AR
Aﬁ\g Anon' 30 ALO
: - FoeMurs CmPd " 203
20. Draw dot s‘rru%‘r%

@show how an ionic bond would form between
strontium and iodine. Write the formulas for the cation, anion and

compound that will form.
o, CAmon: S

Sr.\:g: Avion® 2T~

1 £ Pemua Cuen’ Srlo

d. copper (I) nitrite




21. For the following, determine the structural formula, molecular geometry
(shape), if the molecule is a polar or nonpolar covalent molecule and draw

the dipole moment on the molecule if there is one.

a. H2S |
. M - Poar
HES 3N 0 AnewAr MOLECULE
N kT
b. CBrs B
‘R’ i
T IR e NONPOLAR
GO e TERMORE e
e P ¥
yff LB TRIGoNAL  PoLAR
| ‘A C: PYRAMIDAL MoLecule

©
&4

d. CO; C
(% 0=0=0 LINEAR NONPOLAR
& MOLECULE
) Sg? g meomL NONQLAR
L e . RN .
Qﬁ"?" O/ >0 PLANNL MoLécuLe
f. Hcl
5 - PoLAR
H@ H-C ‘L'N_W MoLecULE
g. SeS; | '
. SLIGHTLY

Aueuma - PolAR

S eﬁl //S&\>
/A ponicus
X THE DIFFERENCE [N ELECTRONEEATIVITY

Betweens Se £S5 is Se small that
THE DlPoLe eNDS WP VERY TINY.



22. In which of the following would hydrogen bonding be expected to occur?

H must be directly
CHa @ CHsI @ @ bonded - N,OorF.
23. a. How many moles are 135.82 g of Na2COs?

135.824
165.999 [meP

MOLAR MASS MNazCbz = 105 .¥g
. ol

b. How many formula units (particles) would this be?

23
W28 mo? » (622 X107 Eufp = 1+ 7H7 x10° LU,

24 What is the difference between the molecular mass of H20 and the
molar mass of H,0? MOLECULAR MASS IS THe RELATIVE MASS
FoRr oNE MoLecuLe ANVD UL TS Are “AamMu” or Wyl
WoLAR MASS

1S tHE WMAsSS 6F L.bz2 %1058 parhcles
ARG 1S SRUAL 1o THE ATDMIC WEIHT (REDH o #T) W qrams.
25. What happens to the atomic radius (size of the atom) as you go from

left to right across a period on the periodic table?

Gets smallesr

As you go from top to bottom of a group on the periodic table?

26. What is ionizaﬂ;‘:ne?g%ud‘fed do vemove an e~ Lom N a:lDWI-
What is e(l;ﬂron <n‘:fini1?c')::.9 et | F-PQJ\S ushan o, Hoked I\V\ on € .,
ng:jcef‘ﬁf\g;d whon -cakHon amd i o ottact

‘o

\
e “‘L’F“}lso)\i@‘ﬂ"\u of tonde compownd .
What happens to the ionization ener'|gy for an atom as you go from left

to right across a period on the periodic table?

27.

Increases

As you go from top to bottom of a group on the periodic table?

Decreases
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